
 The new tutorial has no clear impact on purchase behavior.

6406532734189.  It is less effective; fewer players made purchases after the introduction of the 

new tutorial.

   

   

Business Analytics
Section Id : 64065356698

Section Number : 13

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 45

Display Number Panel : Yes

Section Negative Marks : 0

Group All Questions : No

Enable Mark as Answered Mark for Review and 

Clear Response :
Yes

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 640653118958

Question Shuffling Allowed : No

Is Section Default? : null

   

Question Number : 359 Question Id : 640653816234 Question Type : MCQ Is Question 

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction 

Time : 0

Correct Marks : 0

Question Label : Multiple Choice Question



THIS IS QUESTION PAPER FOR THE SUBJECT "DIPLOMA LEVEL : BUSINESS ANALYTICS 

(COMPUTER BASED EXAM)" 

 

ARE YOU SURE YOU HAVE TO WRITE EXAM FOR THIS SUBJECT? 

CROSS CHECK YOUR HALL TICKET TO CONFIRM THE SUBJECTS TO BE WRITTEN. 

 

(IF IT IS NOT THE CORRECT SUBJECT, PLS CHECK THE SECTION AT THE TOP FOR THE SUBJECTS 

REGISTERED BY YOU)

Options :

6406532734190.  YES

6406532734191.  NO

Sub-Section Number : 2

Sub-Section Id : 640653118959

Question Shuffling Allowed : Yes

Is Section Default? : null

   

Question Number : 360 Question Id : 640653816236 Question Type : MCQ Is Question 

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction 

Time : 0

Correct Marks : 1

Question Label : Multiple Choice Question

The p-value of the chi-square goodness of fit test represents _________

Options :

6406532734196.  The chance of observing the sample when the null hypothesis is false

6406532734197.  The chance of observing the sample when the alternative hypothesis is true

6406532734198.  The chance of observing the sample at the specified level of significance

6406532734199.  The chance of observing the sample when the null hypothesis is true

6406532734200.  The chance of observing the sample when the alternative hypothesis is false



6406532734201.  None of these

Sub-Section Number : 3

Sub-Section Id : 640653118960

Question Shuffling Allowed : Yes

Is Section Default? : null

   

Question Number : 361 Question Id : 640653816243 Question Type : MCQ Is Question 

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction 

Time : 0

Correct Marks : 2

Question Label : Multiple Choice Question

Options :

6406532734210.  Yes, Swami ji is a Genius and has selected the correct variable to be added to 

the model

6406532734211.  No, Swami ji is just a Show-off and has not chosen the correct variable to 

added to the model

6406532734212.  Cannot say, as sufficient information is not available

   

Question Number : 362 Question Id : 640653816259 Question Type : MCQ Is Question 

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction 



Time : 0

Correct Marks : 2

Question Label : Multiple Choice Question

Options :

6406532734228.  ABD

6406532734229.  BCD

6406532734230.  ACD

6406532734231.  AED

6406532734232.  BCE

Sub-Section Number : 4

Sub-Section Id : 640653118961

Question Shuffling Allowed : Yes

Is Section Default? : null

   

Question Number : 363 Question Id : 640653816270 Question Type : MCQ Is Question 

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction 

Time : 0

Correct Marks : 2

Question Label : Multiple Choice Question

In a conjoint problem with 5 products and 2 attributes, how many unique pair-wise preferences 



are possible?

Options :

6406532734244.  8

6406532734245.  10

6406532734246.  16

6406532734247.  12

   

Question Number : 364 Question Id : 640653816271 Question Type : MCQ Is Question 

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction 

Time : 0

Correct Marks : 2

Question Label : Multiple Choice Question

If the attribute values in the conjoint analysis is a continuous variable and the data is collected in a 

pairwise order, then what approach can be used:

Options :

6406532734248.  Regression approach

6406532734249.  Statistical approach

6406532734250.  Optimization approach

6406532734251.  Regression approach & Statistical approach

   

Question Number : 365 Question Id : 640653816272 Question Type : MCQ Is Question 

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction 

Time : 0

Correct Marks : 2

Question Label : Multiple Choice Question

The part worth can be defined as:

Options :

6406532734252. 



 Level utilities

6406532734253.  The utility for that level of attribute

6406532734254.  Utility for separate parts of the products

6406532734255.  Both Level utilities & The utility for that level of attribute

6406532734256.  All of these

Sub-Section Number : 5

Sub-Section Id : 640653118962

Question Shuffling Allowed : Yes

Is Section Default? : null

   

Question Number : 366 Question Id : 640653816235 Question Type : MSQ Is Question 

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction 

Time : 0

Correct Marks : 1 Max. Selectable Options : 0

Question Label : Multiple Select Question

Which of the following are required to build an empirical distribution?

Options :

6406532734192.  PDF or PMF

6406532734193.  Sample data

6406532734194.  Summary Statistics

6406532734195.  None of these

Sub-Section Number : 6

Sub-Section Id : 640653118963

Question Shuffling Allowed : Yes

Is Section Default? : null

   

Question Number : 367 Question Id : 640653816260 Question Type : MSQ Is Question 



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction 

Time : 0

Correct Marks : 1.5 Max. Selectable Options : 0

Question Label : Multiple Select Question

There are 6 business units and you are using the DEA to compare them. You solve the LP for 

business unit 5. You find from the constraint expression that business unit 5 has obtained an 

efficiency of 0.7 and business unit 6 has obtained an efficiency of 1 with the optimal weights of 

business unit 5. Which of the following statements is correct?

Options :

6406532734233.  Business unit 5 may be efficient

6406532734234.  Business unit 6 will be efficient

6406532734235.  Business unit 5 may be inefficient

6406532734236.  Business unit 6 will be inefficient

Sub-Section Number : 7

Sub-Section Id : 640653118964

Question Shuffling Allowed : Yes

Is Section Default? : null

   

Question Number : 368 Question Id : 640653816258 Question Type : MSQ Is Question 

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction 

Time : 0

Correct Marks : 2 Max. Selectable Options : 0

Question Label : Multiple Select Question

Which of the following is true:

Options :

6406532734224.  Productive efficiency focuses on maximizing the given output under given 

constraints by optimally allocating the products.

6406532734225.  Productive efficiency frontiers are all combinations of outputs such that the 

production of one unit cannot be increased without sacrificing the other.



6406532734226.  Organizations that find themselves on the Economic frontier are called 

efficient economic units.

6406532734227.  DEA focuses on technology to improve productive efficiency.

Sub-Section Number : 8

Sub-Section Id : 640653118965

Question Shuffling Allowed : No

Is Section Default? : null

   

Question Id : 640653816255 Question Type : COMPREHENSION Sub Question Shuffling 

Allowed : No Group Comprehension Questions : No Question Pattern Type : NonMatrix 

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (369 to 370)

Question Label : Comprehension

“BA Books” sells its popular book titled “PJs” to the learners in the BSc programme. The demand 

for the book is modelled by a curve which is captured as 23000-10*P1 (where “P1” is the selling 

price of the book). With this information, answer the given subquestions.

Sub questions

 

Question Number : 369 Question Id : 640653816256 Question Type : SA Calculator : None 

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Question Label : Short Answer Question

If the aim is to maximize revenue, then what should be the value of P1? 

 

NOTE: Enter your answer to the nearest integer.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1150

 

Question Number : 370 Question Id : 640653816257 Question Type : SA Calculator : None 

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Question Label : Short Answer Question

The cost of printing a book is Rs. 420. If the aim is to maximize profit, then what should be P1? 

 

NOTE: Enter your answer to the nearest integer.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

440

Sub-Section Number : 9

Sub-Section Id : 640653118966

Question Shuffling Allowed : No

Is Section Default? : null

   

Question Id : 640653816251 Question Type : COMPREHENSION Sub Question Shuffling 

Allowed : No Group Comprehension Questions : No Question Pattern Type : NonMatrix 

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (371 to 373)

Question Label : Comprehension

Suppose a factory manufactures products on four machines A, B, C and D. Suppose 60% of total 

output comes from machine A, 22% of total output comes from machine B, 7% of total output 

comes from machine C and rest are from machine D. From the past data, it is known that 12% of 

products by machine A are defectives, 17% of products by machine B are defectives, 8% of 



products by machine C are defectives and 10% of products by machine D are defective. With this 

information, answer the given subquestions

Sub questions

 

Question Number : 371 Question Id : 640653816252 Question Type : SA Calculator : None 

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Question Label : Short Answer Question

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

0.28 to 0.31

 

Question Number : 372 Question Id : 640653816253 Question Type : SA Calculator : None 

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Question Label : Short Answer Question



Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

0.85 to 0.89

 

Question Number : 373 Question Id : 640653816254 Question Type : SA Calculator : None 

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Question Label : Short Answer Question

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

1255 to 1257

   

Question Id : 640653816261 Question Type : COMPREHENSION Sub Question Shuffling 

Allowed : No Group Comprehension Questions : No Question Pattern Type : NonMatrix 

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (374 to 375)

Question Label : Comprehension



There are 6 business units where we measure the efficiency based on two outputs and one input. 

You are solving the optimization problem for business unit 6 and find that the efficiency is 0.75. 

You find that the dual variables corresponding to the constraints of business units 4 and 5 are 

non-zero and the dual variables corresponding to the constraints of other units are zero. The dual 

variables corresponding to the constraints of business units 4 and 5 are 0.35 and 0.4 respectively. 

You are given the following table where sales and loyal customers are the two outputs. 

 

 

 

Based on the above data answer the given subquestion.

Sub questions

 

Question Number : 374 Question Id : 640653816262 Question Type : SA Calculator : None 

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1.5

Question Label : Short Answer Question

How much is the sales in BU 4?  

Hint: Round-off up to 2 decimal places

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

9933 to 9934

 

Question Number : 375 Question Id : 640653816263 Question Type : SA Calculator : None 

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1.5

Question Label : Short Answer Question



How many loyal customers in BU 4?  

Hint: Round-off up to 2 decimal places

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

139 to 140

Sub-Section Number : 10

Sub-Section Id : 640653118967

Question Shuffling Allowed : No

Is Section Default? : null

   

Question Id : 640653816237 Question Type : COMPREHENSION Sub Question Shuffling 

Allowed : No Group Comprehension Questions : No Question Pattern Type : NonMatrix 

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (376 to 380)

Question Label : Comprehension

A demand response curve is built using linear regression. The partial regression output is given in 

Figure-1 below. Given this information, answer the given subquestions. 

 

Sub questions



 

Question Number : 376 Question Id : 640653816238 Question Type : SA Calculator : None 

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Question Label : Short Answer Question

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

3.82 to 3.86

 

Question Number : 377 Question Id : 640653816239 Question Type : SA Calculator : None 

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Question Label : Short Answer Question

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

912 to 913



 

Question Number : 378 Question Id : 640653816240 Question Type : SA Calculator : None 

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Question Label : Short Answer Question

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

237 to 239

 

Question Number : 379 Question Id : 640653816241 Question Type : MCQ Is Question 

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction 

Time : 0

Correct Marks : 0.5

Question Label : Multiple Choice Question

Based on the elasticity, which of the following statements are TRUE?

Options :

6406532734205.  The demand is elastic

6406532734206.  The demand is inelastic

6406532734207.  The price is elastic

6406532734208.  The price is inelastic

 

Question Number : 380 Question Id : 640653816242 Question Type : SA Calculator : None 



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Question Label : Short Answer Question

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

89 to 90

Sub-Section Number : 11

Sub-Section Id : 640653118968

Question Shuffling Allowed : No

Is Section Default? : null

   

Question Id : 640653816244 Question Type : COMPREHENSION Sub Question Shuffling 

Allowed : No Group Comprehension Questions : No Question Pattern Type : NonMatrix 

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (381 to 386)

Question Label : Comprehension

The BA discourse is often cluttered with queries / requests related to solutions for Past Year 

Question Papers (PYQP). The course instructor, Dr. Milo, had been informing that students need to 

put in effort to find solutions by searching the discourse. However, the results seem to 

disappointing. Therefore, Dr. Milo wanted to do a few basic analytics on discourse behaviour of 

students. Past student data was collected for the analysis. 



 

Past data was collected for the BA terms in Jan-2022, May-2022, Sep-2022, Jan-2023, May-2023 and 

Sep-2023. For each term, 100 randomly selected unique student IDs were sampled. Of the 100 

student IDs, 50 were “Male” and the remaining were “Female”. The learners in the discourse have 

either “followed the instructions” or “not followed the instructions” or “have not accessed the 

discourse at all” (these three are referred to as access categories). Specifically, for the sample data 

in the different terms (in sequence of earliest term to later term i.e. Jan-2022 to Sep-2023) it was 

observed that 

 

1. For the Male sample: 20, 30, 25, 45, 25 and 35 had not followed the instructions (respectively in 

each term i.e 20 male learners had followed the instructions in Jan-2022 term and so on) 

2. For the Male sample: 2, 10, 5, 4, 5 and 3 had not accessed discourse at all (respectively in each 

term i.e 2 male learners had not accessed discourse at all in Jan-2022 term and so on) 

3. For the female sample: 15, 22, 32, 25, 20 and 20 had followed the instructions (respectively in 

each term i.e 15 female learners had followed the instructions in Jan-2022 term and so on) and the 

rest of the learners in the respective samples had not followed the instructions 

 

Moreover, Dr. Milo assumes that all learners in the “followed the instructions” category are 

Normally distributed with a mean of 18 and standard deviation of 4. Each BA term is taken as a 

sample point to identify the required counts (for this specific analysis). A binning of data is 

performed with the following three bins (which capture the number of learners who follow the 

instructions in a sample). These bins, divide the solution space into equal areas. 

 

Bin-1: [less than or equal to 35] 

Bin-2: [36 to less than or equal to 50] 

Bin-3: [51 to less than or equal to 100] 

 

Given this information, answer the given subquestions

Sub questions

 

Question Number : 381 Question Id : 640653816245 Question Type : SA Calculator : None 

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1.5



Question Label : Short Answer Question

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

27 to 28

 

Question Number : 382 Question Id : 640653816246 Question Type : SA Calculator : None 

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2

Question Label : Short Answer Question

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range

Text Areas : PlainText

Possible Answers :

48 to 52

 

Question Number : 383 Question Id : 640653816247 Question Type : SA Calculator : None 

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Question Label : Short Answer Question

What is the observed frequency in “Bin-1” of Dr. Milo’s analysis?

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

3

 

Question Number : 384 Question Id : 640653816248 Question Type : SA Calculator : None 

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Question Label : Short Answer Question

What is the expected frequency in “Bin-2” of Dr. Milo’s analysis?

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

2



 

Question Number : 385 Question Id : 640653816249 Question Type : SA Calculator : None 

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Question Label : Short Answer Question

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

 

Question Number : 386 Question Id : 640653816250 Question Type : SA Calculator : None 

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Question Label : Short Answer Question

How many degrees of freedom is present for the hypothesis test used to check if Dr. Milo’s 

assumption that all learners in the “followed the instructions” category are Normally distributed?

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



2

Sub-Section Number : 12

Sub-Section Id : 640653118969

Question Shuffling Allowed : No

Is Section Default? : null

   

Question Id : 640653816264 Question Type : COMPREHENSION Sub Question Shuffling 

Allowed : No Group Comprehension Questions : No Question Pattern Type : NonMatrix 

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (387 to 391)

Question Label : Comprehension

An automotive company wants to understand its model performance of a classification problem 

where the task is to classify loyal customers and those Not Loyal. Using the table given below, 

answer the given subquestions 

 

Sub questions

 

Question Number : 387 Question Id : 640653816265 Question Type : SA Calculator : None 

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1.5



Question Label : Short Answer Question

What is the accuracy of the model? (in percentage) 

 

Hint: Round your answer to two decimal places and answer them in terms of percentage. Example: If 

your answers is 0.735, write it as 73.50.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

58.1 to 58.6

 

Question Number : 388 Question Id : 640653816266 Question Type : SA Calculator : None 

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2

Question Label : Short Answer Question

What is the precision of class 1? (in percentage) 

 

Hint: Round your answer to two decimal places and answer them in terms of percentage. Example: If 

your answers is 0.735, write it as 73.50.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

62.2 to 66.7

 

Question Number : 389 Question Id : 640653816267 Question Type : SA Calculator : None 

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 2

Question Label : Short Answer Question

What is the recall of class 1? (in percentage) 

 

Hint: Round your answer to two decimal places and answer them in terms of percentage. Example: If 

your answers is 0.735, write it as 73.50.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

71.1 to 71.7

 

Question Number : 390 Question Id : 640653816268 Question Type : SA Calculator : None 

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2

Question Label : Short Answer Question

What is the precision of class 0? (in percentage) 

 

Hint: Round your answer to two decimal places and answer them in terms of percentage. Example: If 

your answers is 0.735, write it as 73.50.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

49.9 to 50.1

 

Question Number : 391 Question Id : 640653816269 Question Type : SA Calculator : None 



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2

Question Label : Short Answer Question

What is the recall of class 0? (in percentage) 

 

Hint: Round your answer to two decimal places and answer them in terms of percentage. Example: If 

your answers is 0.735, write it as 73.50.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

39.9 to 40.1

   

   

System Commands
Section Id : 64065356699

Section Number : 14

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 100

Display Number Panel : Yes

Section Negative Marks : 0

Group All Questions : No

Enable Mark as Answered Mark for Review and 

Clear Response :
Yes

Maximum Instruction Time : 0


